HW 5.2(a) Key

1. LetXand Y be discrete random variables with joint probability mass function given by

f(x,y)z%(é—x)(9+y) for x=1,2,3 and x<y<3.find P[X <Y].
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2. LetXand Ybe discrete random variables with joint probability mass function given by

f(x,y)=é(10—x)(1+y) for x=1,2,3 and x<y<3.Find Var[X+Y].
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3. Let Xand Y be discrete random variables with joint probability mass function given by

S (%)=(068)(0.327) for x=1,2,3,... and y=1,2,3,....Find P[X+Y24].

0.5648 B) 04970 C) 05309 D) 05987 E) 0.6326

"

Plx+y 2u) |- Plxsvy €2)

I - SO - O - £2,M

"

o

| - 0w¥(63) - 0.6%(012)% - (o‘us?(o.sz\)

(«



% Let X and Y be discrete random variables with joint probability mass function given by f(x,y) = (r x))
for x=0,1,2,3,... and y=0,1,2,3,....Find .
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5. LetXand Y be discrete random variables with joint probability mass function given by f(x y) k(4.2 +xy)
for x=2,3,4 and 1<y l X, where y isan integer. Find P[X ¥ s 1]
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